PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
18th July 2016, 09:00 AM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Which of the following is the birthplace of Dr. B R Ambedkar? / FFafafad # & 7 f 3R sras®HR &t
Y et @2

* Ambavade / SFETATS
® Thane / 4

® Baroda / SSIal

e Mhow / UE

Correct Answer :-Mhow / Hg

2)
Question Stimulus :-

Which are among the more important of the minerals of Madhya Pradesh? / Ffod Q9w m & 3rferp 'FIBEEUf
@feel B9 A 82

® Zinc and manganese / STl 3R HIIST
® Mica and coal / S[YDH 3R Prger

® Silver and copper/il'i_cﬁ 3ﬁ'\’ GIC

® (Coal and iron / BT 3R T’ﬁ?

Correct Answer :-Coal and iron/m 3R ?ﬁ?

3)
Question Stimulus :-

Under what Article of the Constitution of India can the President take over the administration of a state in case

its constitutional machinery breaks down? / WIRA g e & fopa élﬂilﬁ‘c; & 3ferld ?quqﬁr dfaenfe o=
& g W it off o & e B ISR oA BTY H & ohd 82

o Art. 83/ 3G 83

()



o Art. 352/ 3G 352
° Art. 356 / 3G 356
o Art. 343/ 3JG 343

Correct Answer :-Art. 356 / 3[I&5¢ 356

4)
Question Stimulus :-

Choose the number which is different from others in the group. /39 TSI G| ﬂﬁ'a
S Iqg | 919t T4 I AT 7|

o 27
* 125
* 343
e 1321

Correct Answer :-1321

5)
Question Stimulus :-

The mother of Radha is the only daughter of Nirmala's father. How Nirmala is related to

Radha? / 39T ®1 Hra1 e & far &1 seaidl 9d g1 Fefer e J &9 ddfta g2
* Sister / T§4
* Mother / Tl
* Aunt / 3fidl
* Can't determine / FUiRa 8t F% THd

Correct Answer :-Mother / HTdl

6)
Question Stimulus :-

Which is India’s first Scorpene-class submarine? / HIRd | tl%?ﬂ THITUg ait qﬂgﬁﬂ ® I %?
e NS Shalki / 3TSTTTH TP

@)



® INS Khanderi / 3TSUATH Gel

® INS Shankul / STETACH Tipd

* NS Kalvari / 3TSUAEY Heai]
Correct Answer :-INS Kalvari / 3TSEIEY Hear]
7)

Question Stimulus :-

Four students Arvind, Bhasker, Chander and Dravid are sitting in row. Arvind is next to
Chander, Dravid is not next to Bhasker, Chander is next to Bhasker. Which of the following
is an acceptable arrangement? The first of the names are quoted below / IR B

YRPR, T U gfas Ui § 93 §| oRfawe, TR & T & ®, &fds, YRS & Fd § 78] §, T, MR
%Wﬁ%| Fafrfaa & ®19 I caowr Werd 82 Hm%sugﬁam:ﬁ%wﬁa%

® ABCD

e ACBD

* DACB

e ACDB
Correct Answer :-DACB
8)
Question Stimulus :-

Who heads the Scientific Advisory Council to The Prime Minister? [AYTHA & W B NIEEdES qﬁ'ﬂlﬂ *
AT I &2

* Pradyut Ghosh / Wgdd 91y
® D Sivananda Pai /81 ﬁﬁ'ﬂ? 'Q'Ig

e Upinder Bhalla / U< Hedl

® CNR Rao / HITH3IR I
Correct Answer :-CNR Rao / HITH3R 314
9)

Question Stimulus :-

Girija, Ishan, Francis and Hema are sitting on a bench. Francis has Hema next to her on her left. Hema and Girija are

on cither side of Ishan. Who sits at the extreme left? / ﬁﬁ“ﬂ, SR, BT Tq %'FIT Th T WS 8¢ %|
(4)



PITE & Ta & SHBT 9l 3R 891 ¥| 891 €d R, 329 & ST 3R €] I Then a1 Yo7 g3 272
Hema/'%TlT
Girija / fiifvem

Ishan / S

® TFrancis / I
Correct Answer :-Girija / RIfeeT
10)

Question Stimulus :-

Which of the following is the cause of tsunamis? / ﬁ"}l’ﬁ AP IT '\ﬁTﬂTﬁ DT DHIRUT %?
® (Cyclones over the sea / wﬁw
® Monsoons / HTFA
® Earth quakes under sea /W%Tﬂ% U caY
® Gravitational pulls by Sun and Moon /'\Tif Gﬁ?’ﬂw '\&W@Wﬁ LCIEGIE

Correct Answer :-Earth quakes under sea / TS & -1 YHU

11)
Question Stimulus :-

Telangana became the 29t state of India in 2014 by reorganizing . 12014 ® AEITHET YR &1 2991
TIWE'\“I?IWQTEFT: TS gRT 1 YT-

® Andhra Pradesh / W?N%QT
® Karnataka / $I¢HI
® Kerala / BRdl
* Odisha / SISz
Correct Answer :-Andhra Pradesh / STSVRT
12)
Question Stimulus :-
p + qmeanspisthesonofq; / p+q®3fgfF p, qHT g8

(®)



p - q means p is the wife of q; / p-q ®T13A 8 F p, q P Ul &
P ~ q means p is the brother of q; / pxq W\H’t’f%% P, qﬂv‘rﬂ-né%
p . q means p is the motherof q; / p.q #1338 fF p, q BT AT ®

P = q means p is the sister of q. / p=q FTAf e F p, q P T8

What doesP =R , Q mean? / P = R , Q &1 &1 3 82
° Pistheaunton/P,Qaﬂ'ﬂ'ﬁﬂ%
* P is the sister of Q / P, Q B 984 &
e Qis the niece of P/ P, Q B! Helloll &
° QisthedaughterofP/P,Qﬁ’ﬁH’?ﬁ'%
Correct Answer :-P is the aunt on/P,Qﬁiﬂ?ﬂ%
13)

Question Stimulus :-

Which State is known as the ‘land of five rivers?’/ T Irsd &I ‘qﬁqﬁﬁ | 'Hﬁl' & ATH A ST ST %?
® Madhya Pradesh / |
® Punjab / USTTd
® Meghalaya / Yo
® Chattisgarh / ?ﬁﬂﬂ"'ﬁ{

Correct Answer :-Punjab / USITd

14)
Question Stimulus :-

A+B means A is the brother of B, A-B means A is the daughter of B and A_*B means A is the
sister of B. What does Q-R*P mean? / i¢ A+B BT 3 & fF A, BHTHIS 2 Td A-B T 3f & i A,
BB TN ETIA*B B13d & & A, B F1 989 8] Q-R*P &1 7 3rf 82

® P is the maternal uncle of Q / P,Q T HTHT %

® P s the brother of Q / P,Q I 'l-I'I'E,»F %

® Pis the nephew of Q / P,Q T YeTeT %
(6)



® P is the father of Q / P,Q T fUdT &

Correct Answer :-P is the maternal uncle of Q / P,Q T HTHI g

15)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / i IRY 3R WR SMPTa Y ¥ B} W1 H1 & forw wics fbar oiran 8, ot iy faweul & ¥ &9
¥ fareu & wae il R RER T wae & fQAuda g2

Correct Answer :-

16)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe T:J,ﬁ'Q
Sil 3T 7T HyAT wa el & av § 9L B

Statements: / ®YH:
All angels are rooks. / 9 BPR=d 37 1

All rooks are bishops. / 91 37 fa=T g1

Conclusions: / faep:
I. No bishops are angels. / ﬁ'{ ft fo=mg IFﬁ'Q?f T&ﬁ%l
II. All angels are bishops. / 9 BT fo=rg €1

® Only conclusion I follows | pad e 1 Freddar %
()



® Only conclusion II follows / W ﬁ"ﬂ"ﬁf 1I ﬁm %

e Both conclusion I and II follows /aﬁ’f e 1 Gﬁ?' II ﬁﬁb—(‘lﬁ %

* None of the conclusion I or II follows / foepd I a1 1T # & Eﬁg qﬁ IBCZSGI %
Correct Answer :-Only conclusion II follows / ad ey 11 fAredr %

17)
Question Stimulus :-

British changed the name of the state from to Orissa. / fafe=r =t GTﬂW PIAH TCA D R fear um

e Odisha / 3T
e Odia/ 3NfSam
* Oriya/3f&ar
e Ohia/ 3fifgaT

Correct Answer :-Odisha / 3Nfsam

18)

Question Stimulus :-

Ashok Shandilya is associated with which of the following games? / 3N Tifsed -4 fora wa & Hefya %'?
e Badminton/ SSf¥eT
e Cricket/ fohdre

® Lawn Tennis/ @< ¢~

e Billiards/ faferas

Correct Answer :-Billiards/ faferas

19)
Question Stimulus :-
The Guardian of the Constitution of India is- / HIR< HIUTT & AfUHTTS %:-

® Indian Parliament / IR W

® Supreme Court of India / HIRd DT S=IdH ATITAY
(8)



® Prime Minister of India / HTd & HLTTHAL

® High Courts of the States / HIRd I I <TUTTH
Correct Answer :-Supreme Court of India / HIRd T SIdH ~ATATd
20)

Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. The rotator is
rotating while the phone is on, then someone is crying. / wﬁmﬁ&ﬁmw% arafe
BIS Aa1 2 A Ve gHAT 8 1 B BT 31T AR R AT go w1 8, A BIE A @8

e True / Hgl

* False / TTdd

* Maybe / g gPar g

e Irrelevant / 3YNERT®
Correct Answer :-Maybe / 8 J&dl §
21)

Question Stimulus :-

Five members A,B,C,D, and E of a family read a religious book in a definite order;

First C gave to D after reading the religious Book

After D, A read who was just previous reader to E

B is the last member to read

Who were two continuous readers between C and E? /
U URaR & Ulg 9 A,B,C,D, T4 E T (Af¥d w0 § te uiftfe ae ued §:
Tgd € A 9 uifife AP TG F IS D B
D & 91, A 1 Uel ol f& E ¥ 3l fisar uiss o1
o B 9aY 3ifdy A o/ ver
CUJE & 7 $F 4 ¢ FRax ule® & 2

® DandA /DUTd A

® CandB/CUTIB

©)



® AandE /ATJE

® BandD /BTUWdD
Correct Answer :-Dand A / DTd A
22)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 9 7% ¥, U8 I Weal & o9 Wy day ] A e & & =iur s g e Sy
TE F Y I UPR ST GaY B

PRESIDENT: COUNTRY :: CHIEF MINISTER : ? / ?Tgclﬁ : OFT :: H’@lﬁiﬁ: ?
® Town / R}
* State / 9
* Village / g
® District / e
Correct Answer :-State / 34
23)

Question Stimulus :-

Which of the following districts does NOT belong to Indore division? / frrafafea el & @ #1991 e
SR U &1 81 &2

® Dhar / TR

® Jhabua / g3

* Dewas / GaTd

* Badwani / 9Sar-

Correct Answer :-Dewas / ¢aid

24)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁq
it fRE U Syl Td frewuf & IR § 9 21

(10)



Statements: / YA:

No plugs are trees. / ®I5 Yl =T U8 181 81

All threads are plugs. / T4 4R &7 €1
Conclusions: / e

I. No threads are trees. / ﬁg off umt ﬁgﬂﬁ%l

II. Some plugs are trees. / $9 &I ﬁg %I

¢ Only conclusion I follows / ad ey 1 Reaan %

® Only conclusion II follows / Fad ey 11 fAeaar %

e Both conclusion I and II follows / 19} st I 3R IT fAderd %

¢ None of the conclusion I or II follows /ﬁwﬁf I97II# ﬁ aﬁ% =|%°r Fredan %
Correct Answer :-Only conclusion I follows / A frespy 1 eedar %

25)
Question Stimulus :-

Pointing to a gentleman, Dinesh said, “"His only brother is the father of my daughter’s
father.” How is the gentleman related to Dinesh? / T& TwH 1 3R 3RT H3d §¢, A 7 Fa,
“SUBT SHANT HIE A8 9 & a1 & R 817 awm, oA @ 9 dafta 82

e Grandfather / SIqT

® Brother in law / EGT-ﬁ's‘:
® Father / LGl
® Uncle / 3®d

Correct Answer :-Uncle / 3i%d

26)
Question Stimulus :-

A railway network links some towns in a country such that tracks lie between M and N,
between M and O, between O and R, between R and T, between R and U, between T and
P and between P and S. No two tracks intersect each other except at the towns. A train can
travel from P to N only in that direction and not back. / WWW U F W?‘R’fﬁw
ReAsaT e TeRATM RN F T, MR O F I, O MR RF IF, RIRTH §, RARU P
a9, T 3R P & ot iR P 3R s & ol fRRya gi| ®i3 +t 3 veRar 7RI &1 Slew: et ft T gav &t
Afaedq 8] Pl | TP ISt P A N $ad s} 2= & an 3 ol 8 3R 1w &1 fa=n & =781]

(11)



For a train to go from S to N, it is necessary to go through town: / &t ¥amSI 1 afe ST N
P RE FHET €, O T WS A ST o 8

e M
e P
e R
e T
Correct Answer :-P
27)

Question Stimulus :-

Who built the Rani Mahal and Chaman Mahal in Islamnagar? / S¥CITHTIR T I+ HEd 3T THT Ted foree
AT Y1?

® Sultan Muhammad Khan / &I JgHHg Wl
* Nizam Shah / FI9ITH 28

® Dost Mohammed Khan / G HeHHc¢ 91+

® Yar Mohammad Khan / O HIgW™¢ @

Correct Answer :-Dost Mohammed Khan / SR Jg@Ig T

28)
Question Stimulus :-

Pointing to a photograph, a lady tells Pradeep, "I am the only daughter of the lady and her
son is your maternal uncle.” How is the speaker related to Pradeep father? / T®% TR &1 3R

SRI B34 §U, TP Wl Ui &) Bgdl g, “H Alar #Y soaldl 9t § 3k SHBT a1 3ass /T &1 aar
weiu & far @ H4 defta 82

* Sister-in-law / 791G

* Either (a) or (b) / (a) 3¥aT (b)

* Wife / Udl

e Neither (a) or (b) / (a) TT (b) # A HI§ &l

Correct Answer :-Wife / Udl

29)

(12)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 98 fd®e
gReSah st AR RS FIum g :

All Indians love curry and rice. / ¥ YR I 3R II9d THE H &

® Some Indian love curry and rice. / PO YR H3 3R Iad UG HId 8

* Some Pakistanis love curry and rice. / PO TIfbErT B 3R Iad UdE Pd g

e No non-Indian loves curry and rice. / aﬁ’é ff IR-URAT 9 3R araa L'perd q'iﬂ' GG

® Indians do not love biryani. / YR oA wig T8t Hd|
Correct Answer :-Some Indian love curry and rice. / PS YR B3t 3R a9 Lipord HId %'l
30)

Question Stimulus :-

“Mook Nayak” was written by / “¥b IIIH"” 3% g1 fafea T
* B R Amedkar / S13R FASH
® BC Chatterjee /'éﬂ'\‘:ﬁ TSl
® YVivekananda / ﬁaﬂ?ﬁ?{
® Aurobindo Ghosh / m oy

Correct Answer :-B R Amedkar / 913 3FISHT

31)

Question Stimulus :-

Which river divides the district of Guna? / ®I-RIt A&} AT forat & favnfora gt @2
® Tawa / ddIl
* Jamni / SO
e Sindh /R
® Tamsa / dHAl
Correct Answer :-Sindh / Y

(13)



32)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fageu

gAMb PR AR Ru W F T 2 :

If yo_g hit a sixer then only we can win the match. / af¢ g9 THT @ &, Faa aff g0 &9 <iq
qod gl

¢ If you do not hit a sixer then we cannot win the match. / qﬁ dH Sdbl qﬁ GUIG 'Eﬁ' dd gH ﬁ?l
ol Sild Jhd |

e If we win the match then you must have hit a sixer. / Tl'fa ?H 'a?-l' iG] \‘:n%r %, dd ﬂTlﬁ SFPI
GRICIEE U

e If we do not win the match then you must have hit a sixer. / ‘lea BH 'a'if T'I'a Trﬂ—cl'a % dd T:Fl'ef
BT AT §HI

¢ Six runs are required to win the match. / AY i & ﬁl’E’ BT i P SagFHan %I

Correct Answer :-If we win the match then you must have hit a sixer. / Tlﬁ' BH g NiGASIG %:, dd

TU BEHT TIET BT

33)

Question Stimulus :-

Who introduced the dual government system? / T& Mg wommel &1 IRy foam fear ur?
® Robert Clive / IqC FeITgd
® Warren Hastings / an+_a m
® TLord Cornwallis /F‘I'\I'é ﬁﬁa‘fﬁm
® Lord Hastings / drs %ﬁm
Correct Answer :-Robert Clive / IT9¢ GTSd

34)
Question Stimulus :-

Chaturbhuj Nath temple is located close to which sanctuary? / ﬂﬁ'ﬂﬁf 1Y HfeR {5 SIvaRva & U fRya %?
e Ken Ghariyal / 1 9fSaTa
e Son/HH

(14)



® Gandhi Sagar / TR IR

® Shivpuri/ ﬁ'ﬁ'ﬂﬁ

Correct Answer :-Gandhi Sagar / Tl IR

35)
Question Stimulus :-

India and Srilanka are separated by ./ HIRd 3T AT grRT _e|En g gl
® Gulf of Alaska / 3[TRDT I WIS
* Gulf of Kutch / S5 &1 @S]
® Palk Strait / UTh STdSHTH
® Gulf of Khambhat / @HTd B WISl

Correct Answer :-Palk Strait / UT® SICISHSH Y

36)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁt{
wil foT T Syl wd el & TR § 9€ 2l

Statements: / $YH:
Some eagles are oranges. / $9 did ARl €1
Some eagles are not green. / $S A g4 T8I B

Conclusions: / fAssd:
I. All green are oranges. / I. 94t &% AR &1

II. All oranges are eagles. / II. W TR A %'I
® Only conclusion I follows | pad ﬁwﬁf I fFrpadn %
e Only conclusion II follows / ae fepY 11 fNwerar 8
¢ Both conclusion I and II follows /E’Fﬁ e 1 \’:ﬁ? II ﬁﬁ% %
* None of the conclusion I or II follows / Fpd I a1 11 § A i 18] FApadr g

(15)



Correct Answer :-None of the conclusion I or II follows / sy 1 a1 11 § A 5 8 Rpadar

g

37)
Question Stimulus :-

Jawaharlal Nehru was the first of India / STATg¢ITel ﬁB?K URd & UYH - O

® Vice President / WI’g‘Tﬁf

® Prime Minister / WUTTHAL

® President / ?quﬁf

® Deputy Prime Minister / IU YUTHAT

Correct Answer :-Prime Minister / WUTTHAT

38)
Question Stimulus :-

Identify the odd one out. /ﬁ'lSI'F[ tl'g?lﬁ :
® Ganga /T T
® Mahanadi /'FIEFIa
* Godavari / gy
® Krishna / PWIT

Correct Answer :-Godavari / Mg@s

39)
Question Stimulus :-

X is the Husband of Y. A is the sister of X. D is the sister of Y. How is D related
to X? / X, Y BT UM BIA, X B 89 81 D, Y 1 989 &1 D, X A I Hafera g2

e Son / deI
e Uncle / 3&d
o Sister-in-law / 79¢

e Can’'t be determined / fuifva =&t forar s g@ar

(16)



Correct Answer :-Sister-in-law / 995

40)
Question Stimulus :-

X is the son of Y; Y and L are sisters; Z is the mother of L and. P is the son of Z. Which of
the following statements is true? / X, Y #1921 8; Y 3R L 989 §; Z, L B! Ha1 @ 3R P, Z FT 9T

g1 e # @ o a1 $Y= W5t 82
e P and X are cousins / P 3R X TR 4TS &
e Pis the maternal uncle of X / P, X & 1 &
e L is the maternal grandfather of X / L, X & 918
e« Cand P are sisters / c3Rpagi ¢

Correct Answer :-P is the maternal uncle of X / P, X & AHT &

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A 35 cm long line segment is divided into two parts in the ratio 3:4. What is the length of the longer part? / TP 35

T vl YT WS B G WA A 3:4 F 3gurd § uifora far orar 8 o R 9t s | e
* 20 cm /20 9
e 18 cm/18 Tt
e 15cm /15t
e 1lcm/11 9
Correct Answer :-20 cm / 20 THI
2)

Question Stimulus :-

In a certain code language 'My favourite hero’ is written as ‘deto vya nerolo’ and ‘Hero
is great’ is written as 'meb deto nya’. In that code language the word for '‘Hero’ is: / fordt
W BIS U ff, ‘My favourite hero’ &1 ‘deto vya nerolo’ 3 ‘Hero is great’ P1 'meb deto
nya’ﬁﬁ’l@%l I B yeT | ‘hero’a'?ﬁ'l'qm%:

® deto
[ ] Vya

(17)



® meb

® nya
Correct Answer :-deto
3)

Question Stimulus :-

Fill up the blank: 15% of is 60. / e R &Y W3 HT 15% 60 B

° 40

* 400

® 90
Correct Answer :-400
4)

Question Stimulus :-

The cost price of 30 pens is the same as the selling price of 27 pens. What is the percentage of profit or loss? /

30 HAHI BT HI-Yed 27 HAH! & [Tha-Hed & FUH 8| 1Y YT g1 BT ufa=id J1d B3|
® 10% profit / 10% TH
® 11.11% loss / 11.11% BT+
® 10% loss / 10% ET&[
®* 11.11% profit / 11,11 TH

Correct Answer :-11.11% profit / 11.11 dIH

5)

Question Stimulus :-

Fill up the blank: The pass mark in an examination is 100. This is 40% of the total. The total is . e
R P W TP Uden # S<divife 100 §| 98 $d $T 40% 3| A g
e 250

® 140

(18)



® 160

® 200
Correct Answer :-250
6)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁ?jca TS=T AP gaell Gl qzT P =

80,40,20,10,

e 3

Correct Answer :-5

7)
Question Stimulus :-

In a certain code language '‘world wide web’ is written as ‘jim jom jima’ and
‘Country wide network '’ is written as ' juma jima joma’. In that code language
the word for ‘wide’ is: / {5 @M s YW #, ‘world wide web’ & ‘jim jom jima’ 3R
‘Country wide network ’ Cal Jjuma jima joma’ T forar ?| I FIs UMW | ‘wide’ & e =g %:

® juma

® jima

® jim

® jom
Correct Answer :-jima
8)

Question Stimulus :-

The mirror images of four words are shown below. Three of them can be made
from the letters in the word CARAMEL, but one cannot. Which one? / IR Wi &
gdur gfafds = fRw e €] S99 @ @9, W5 "CARAMEL’ & 31&R} ¥ ST o 9Fd 8, =g UP -el| 98

(19)



HH 82

L ERA
. (@A
SN
RRIACTH

WSk

Correct Answer :

9)
Question Stimulus :-

In the sequence shown below, which figure comes next? / =g GG T H9 § [Tl MFHTA
HIF Ot gRI?

g L [N
B
A
A

(20)



7

o

Correct Answer :-

10)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁqca =T AP daell Gl gzT DI :

64,32,16,8,

* 0

e 1
Correct Answer :-4

11)

Question Stimulus :-

A fruit vendor bought bananas @ Rs. 5 for 6 and sold 4 bananas for Rs. 3. What is his percentage of profit or

loss? / T e fashdT 7 6 P 5 3UA] H WIS U 4 Hd Bl 33041 6 o a1 STPH ATH 31YaT gIi &1
gfa=a =1 82

10% loss / 10% BT+

10% profit / 10% WY

8% loss / 8% BIA

8% profit / 8% dIY
Correct Answer :-10% loss / 10% g
12)

Question Stimulus :-

(21)



Sudhir can do a piece of work in 20 days. How much work can he do in 4 days? / '\ﬁ‘iﬂT fo<lt wrd ®t 20 fRT A QA
X TPl ¢| 98 4 37 A fraa1 o1 o o 22

* 12

* 2/3

* 1/5

* 1/10
Correct Answer :-1/5
13)

Question Stimulus :-

Radha can paint 35 paintings in 25 days. In how many days can she paint 55 paintings? / I 25 fei o 35 o

YT HY 9Pl g 98 55 T fFaq el # e &= gl 82
o 40 Y days/ 40 v f&
e 392/7days / 392/7 T
e 331/3 days/ 33 1/3 e
e 321/3days / 321/3 e
Correct Answer :-39 2/7 days / 39 2/7 &=
14)

Question Stimulus :-

In a certain code 'My sweet heart’is written as ‘cel agase xena’; ‘Mango is
sweet’ is written as ‘agase mnkol sey ; and ' Mumbai is costly’is written as
Bomba sey deara’ . In that code the word for ' mango’ is: / f&t @ wis |, 'My
sweet heart’ &1 ‘cel agase xena’ T forar % ; '"Mango is sweet’ Cal ‘agase mnkol sey’ R
Mumbai is costly’ & ‘Bomba sey deara’ ¥ forar 3| S FIs # * mango’ & RIT v ©:

® mnkol

® xena

® deara

® agase

Correct Answer :-mnkol

(22)



15)
Question Stimulus :-

A seller sells a book for Rs. 24 and loses 20% of the cost. What would be the profit or loss if he sells for Rs. 27? / T
fahar te fFae &) 24% A J°ar g 3R FIAd BT 20% BIS dT 8] AIY yar g~ a1 ghift afg ag 27w o
o1 B2

e LossRs.1/ E'Iﬁ 1

® Profit Rs.4 / WY 4%

e Loss Rs.3 / B9 3%

¢ Profit Rs.6 / dIH 6%
Correct Answer :-Loss Rs.3 / ETﬁ 3%
16)

Question Stimulus :-

Evaluate 5793405 x 99999
® 579334706505
® 570334706595
® 579334346595
® 579334706595

Correct Answer :-579334706595

17)
Question Stimulus :-

In the sequence shown below, which figure comes next? / I feWr T wa & rTdl snpfa
S A ghft?

@ |le \& 9 o9)

(23)



9

@
©)

©)

Correct Answer :-

18)
Question Stimulus :-

35% of is 105. / ®T 35% ¢ 105]
o 225
o 285
o 300
o 315

Correct Answer :-300

19)
Question Stimulus :-

Find 75% of 1/4 of 18506432 - 2020000. / 18506432 - 2020000 T 75%0 JITd BN
® 954652
® -863348
® 3091206

® 30901208

(24)



Correct Answer :-- 863348

20)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ?‘l’ &R gAY s ot R a?r%rq 100 _ 000

_ 0000 _ 0000 _ P
® pooo
¢ ppoo
® PPPP

® pppo

Correct Answer :-pppo

21)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁ?\[‘ﬂ ST gADY ST B T ﬁﬁf{{ x

1,3,6,12,24,
* 40
e 28
e 34
e 48
Correct Answer :-48

22)
Question Stimulus :-

If TIME is coded as UJNF, how is WASTE coded? / If¢ TIME & UINF & wifsd far sirar g,
WASTE $ &8 Hifed fpar srar 82

* XBTUF
®* XCUVA

* XDUXE

(25)



e XEWXF
Correct Answer :-XBTUF
23)

Question Stimulus :-

If STAGE is coded as UVCIG, how is HERO coded? / Tf¢ STAGE &1 UVCIG ¥ ®ifsd far siar g, ot
HERO &1 &9 Bifed fbar Siar g2

* JKOQ
® JGTQ
e JSNP
* DSPQ
Correct Answer :-JGTQ

24)

Question Stimulus :-

The price of a certain brand of shirts has risen by 20% in one year but during the New Year season, a discount of 5%
is offered. What is the effective increase? / U® 0d S ®1 i & a1 ¥ uw ad o 20% & Q'@ E‘sﬁ =g "4
¥ W9 & SR 5% BT TP ge ATHR @1 0| gyt gfs 7 22

* 15%

* 14%

®* 16%

* 12%
Correct Answer :-14%
25)

Question Stimulus :-

Parekh’s PANCARD, Voter’'s ID and passport numbers are ABTFW4632P, HYV4475328 and
F4160087. Check which of the following is the same as these. /. URE $T U7 Hv‘l'é, HdgIdl UgdTd
T T4 UTHUIE H©IT & ABTFW4632P, HYV4475328 U9 F4160087. Sig &% & A9 & & 19 59
A B

® ABTEW4632P, HY V4475328 and F4160087

* ABTFW4632P, HY V4775328 and F4160087
(26)



® ABTFW4632P, HY V4475328 and F4160087

® ABIFW4632P, HY V4475328 and F4160887
Correct Answer :~ABTFW4632P, HY V4475328 and F4160087
26)

Question Stimulus :-
In the following question, one term in the number series is wrong. Find out the
wrong term. / 5% Uy ¥, G@I 4@ar # TP UG TAd §| TAd UG I BIoH|
2,5,10,17,26,37,51,65
° 17
®* 26
® 51
® 65
Correct Answer :-51
27)
Question Stimulus :-

The product code of the windscreen wiper of Maruti Alto car is / HS{d e FR &
fdswrIa asWR &1 IdE FIs &

MUL:ISZ:56438756:Rub/77650:Alto:ext:003487017854

Compare it with the following and identify which of them has exactly one

mistake. / 9 & A1y gOHT $ TH UgAH & 949 9 fFd 71 TH T 7
® MUL:ISZ:56438756:Rub/77650:Alto:ext:003487027854
® MUL:ISZ:56438756;Rub/77650: Alto: Ext:003487017854
® MUL:ISZ:56738756:Rub/77650: Alto:ext:003487617854
® MOL:ISZ:56438756:Rud/77650: Alto:ext:003487017854
Correct Answer :-MUL:ISZ:56438756:Rub/77650: Alto:ext:003487027854
28)

Question Stimulus :-

(27)



Fill in the blanks: X, a milkman adds 3 litres of water to 10 litres of milk. The milk Y sells is 18% water. The water
content in the milk Z sells is 6/31. Arrange the vendors in decreasing order of the quality of the milk. / R =M 31

W X, TP TaTar 10 e g & 3 diex url a8 Y St g¢f S @ SIBT 18% UL 8] Z Y g S @
Bﬂﬁuﬁﬁﬁws/n 8] Y Bt YUET & YR R fIrarsi o ged w0 § Jed |

* X,Y,Z
e 7,Y,X
e 7,X,Y
* Y, Z X
Correct Answer :-Y,Z, X

29)

Question Stimulus :-

In a stationery shop pencils cost Rs. 96 per score and ball pens cost Rs. 50.40 per dozen. What is the ratio of the price

of a pencil to that of a ball pen? / Wm aﬁwﬁ ﬁ,ﬁﬁm’raﬂaﬂmgs?auﬁrﬁﬁ?%eﬁ?ai’aﬁaﬂ
P 50.40% Ul goid ¢| URa &1 Flvd I aia U9 1 BIHT BT SFUTd T 82

* 4:3

e 5:8

* 8:7

e 7:3
Correct Answer :-8:7
30)

Question Stimulus :-

Complete the series choosing the missing number: / ﬁ'@ﬁ RIECI| YADY Gl BI T W )

1,2,4,8,16,
° 20
e 24
e 28
°* 32

Correct Answer :-32
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Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

The rational number —1¢ / aRay w@=T -16

¢ has either a positive numerator or a negative numerator / A gral TP YATHD
33T YT Ueh BUNHS 3 g

e has a negative numerator / H & BUTHSD 3T I

* has neither a positive nhumerator nor a negative numerator / AT TDh YATHD GI'E!T?
Td 9 g TP BUTHS 3 2l

e has a positive numerator / § U6 Y-THS 3T 2|

Correct Answer :-has either a positive numerator or a negative numerator / H a1
a TPh YATHD 3R YT Th BUMHD 3R gl

2)
Question Stimulus :-

ABC is a triangle. Find the locus of a point P which moves such that area of AABC = area

of APBC. / ABC U% fAmiur 81 fig P @1 fawua Rifae f5 A ABC &1 8ata= A PBC &7 85w q

® A line parallel to AC and passing through B / AC & gHIR Udh G S B9 RIS ES Te?f %

* Aline parallel to BC and passing through A / BC % WY T IWT Wi A ¥ TG 6t &

® Perpendicular bisector of the side BC / YSiT BC &T @d feue®

® Median of the side BC fromA / A 9 YSIT BC T HER
Correct Answer :-A line parallel to BC and passing through A / BC & THIAR U IWT Sl A I TOR & g
3)

Question Stimulus :-

The sum of two numbers is 216 and their HCF is 27. Find the numbers. / gl I=me &7 AT %
216 3R ITPT HCF & 27| I=¢ Faifergi

® 27,189

® 154,162

(29)



® 108,108
® 31,189
Correct Answer :-27,189
4)
Question Stimulus :-

To ensure people don’t slip in wet bathrooms, anti skid tiles are used to / dg Rﬁﬁlﬂﬁf Croig ﬁfE f& &
e TR & 78 e, e At ersea ugaa @1 ATl €

® to reduce the friction between the floor & the feet /Th'Elf 3R WY & < 9401 B HH B B ﬁl‘E

* to increase the friction between the floor & the feet / BRI IR W F T o A gl F &
ferg

® make it look attractive / 3THYP g1 & T%‘I'E
® make the surface smoother / ddg &l e 91 & ﬁl’({

Correct Answer :-to increase the friction between the floor & the feet / el 3R W & =
a1 # gfg $1 & e

5)
Question Stimulus :-

ABC and BDE are two equilateral triangles such that D is the mid-point of BC
and E is the mid-point of BA. Find the ratio of the areas of triangles ABC and
BDE. / ABC 3R BDE & 9Hdlg %10 59 YR § & D § BC &1 9w fdg iR E § BA &1 7eA g
fAwiur ABC 3R BDE & &%l &1 3rurd Apiere|

e 2:1

® 1:4
Correct Answer :-4:1
6)
Question Stimulus :-

Find the value of x and y if x+y=6 and 4x+7y=36 / x 3{R y &1 71 @i afe x+y=6 ik
4x+7y=36

(30)



°* 24

° 4,2

e 1,1

e 0,0
Correct Answer :-2,4
7)
Question Stimulus :-

Which half of the heart sends blood to different parts of the body? / g&d &1 ®H
a1 3¢ YTt IRR & A un & vo B Aear § 2

® The upper half/m'\& 3ref vTT

® The lower half/ﬁ":'[ 31 v

® The right half / TaT 3¢ HTT

® The left half / STTT 37¢f HTT
Correct Answer :-The lower half / 7 ar¢f 4T
8)

Question Stimulus :-

An ice block is left to melt on a metal tray. When the ice block melts / TP T6 BT TS Uh UTfeas a' W
fraem & forw o1 faan a1 81 S9 9% &1 @S fuedr @ a9

® The temperature of the metal tray decreases / yrfa® a' DT dTYHTH DH E?r SITdT %I

® The temperature of the metal tray increases / Tfeqd a' HI dTYHT de SITdl %l

® The temperature of the ice block melts above 00c /EIT% WS BT dTIHE 0°C A SR 3.131 %I

* The temperature of the ice block is below 0° C / ¥ s &7 argd 0° C § 1 g1 21

Correct Answer :-The temperature of the metal tray decreases / LD a' DT dTYHTA DH 'G;T SITdT %I

9)
Question Stimulus :-

The upper two chambers of human heart are called---------------- and the two lower chambers are called---------

-/ T F SUN G DI oo HTATD & 3NN 17 & BT v Fgad §

(31)



Atria , ventricles / uf¥®y, Ao

Atrium, venules / 3ifers, 3=qeq
Auricles, veins / 301y, RRT

e Aorta, ventricles / HgT8H+I, e
Correct Answer :-Atria, ventricles / uR®g, e
10)
Question Stimulus :-

The curved-surface area of a cylinder is 2640 cm? and the circumference of its
base is 66 cm. Find the volume of the cylinder. / T& 3@ $1 a-U¥ &76d 2640 T2 8
3R ITF YR Bt IRFT 66 T &, @t a1 &1 e FAPpIfT]

* 174240 cm?

* 6930 cm?

® 13860 cm®

® 27620 cm®
Correct Answer :-13860 cm>
11)

Question Stimulus :-

The following graph shows the gross profit and the net profit of a bank (Rupees
in crores) during four quarters of 2004. / 23 7T A% ¥ U% 9% F 2004 & IR fawfleal &
R GFd @14 Td Fad ary (T SIS #) S ST T4

&0

50 1

40 —

30

10 ~

In which quarter was the ratio of the net profit to the gross profit the highest? / g fowmst # fRaa @y Td 9hd

(32)



TH BT STUTT Fai® 82
e 1
° 2
e 3
e 4
Correct Answer :-3

12)
Question Stimulus :-

A flower may have either a male or a female reproductive part such flowers are

called _____ / U% Qo & A1 ol =R 91 AIGT & S99 HTT 81 9P 81 T U0 Hgad g
® Staminate / GieERT
e Ppistillate / TGN
® Neutral / ST
® Unisexual / TPHIeiIl

Correct Answer :-Unisexual / GHTeiTit

13)
Question Stimulus :-

The sound produced by piano is different from the sound produced by a flute because of the /ﬁ'CIFﬁ g
e <Al TRl gRT I @iy | U gl 81 3P HROT ?

® Quality / TOTdT
® Frequency / enqﬁr

® Loudness / Udddl
® Pitch /dR«d
Correct Answer :-Quality / JUTdT

14)

Question Stimulus :-

(33)



The plant that reproduces through spores is
Tl H3d &

° Fern/q'UTf'lT
e Yeast / @diRk

® Potato / 3T
e Spirogyra / TITSINITSRT

Correct Answer :-Fern / QI

15)

Question Stimulus :-

/ 3 91 ot Fiomysi & gR

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / = 3t T ar ugyi & forw
ézr -9 T 73 WTw &7 sremTe #Y SR Ul BT IW 31 IWI & e gEtT geai R famR #91

Production of Grains by a STATE(Tonns)

\ 20%

&1

ahiaize

&= Other
Grains

Fulses

@ Barley

If the percentage of production of Pulses is distributed equally among the rest of the Grains, what will be the

percentage of Rice production? /?TFC{ E'R_’ﬁ & JdTlg & Ufa=d &1 3= TSl § aRTaR | faafya foran SIY

dl Irad & IATSH BT Ufawrd ford=r ghm?

* 22

* 26

e 24

e 25

Correct Answer :-26
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16)
Question Stimulus :-

In very cold countries the thermometric liquid used is alcohol because / dgd $S o= | Ugded HE I
AT 59 Tepblaid ¢ dalie

® The freezing point is lower than that of mercury/tlﬁ 3| GEEL s | EXCdl ﬁW DH '&ﬁ?IT %l
® The freezing point is higher than that of mercury /Uﬁ' 3| GGEL i ERCl %'FIEF 3rferp ﬁ‘cﬂ %I

®* The boiling point is much higher than that of mercury / qﬁﬂﬁwﬁmﬂim ggd

AfYF g B
* The boiling point is same as that of mercury / &1 HYAID TR & FAM T 2|

Correct Answer :-The freezing point is lower than that of mercury/qﬁ' ) GEEL i ER G| %‘FIW DH

g B

17)
Question Stimulus :-

A colour blind person / Tdh Uit fad
* Cannot see in dim light / §¢ TR H T-Iﬁ aﬁ b dl %
® Can see all objects of white colour /ﬂ'av_c." [T Bt g aaaﬁ @l aﬁ bl %
® Cannot distinguish certain colours / P& I o ‘1-]'&" "-Iﬁ DY Jhdl %
® Can see with lens of proper power /Gﬁlﬁ fed & 9 9 aﬁ b dl %

Correct Answer :-Can see all objects of white colour / T%¢ ¥ ®t A} T¥g3fl B 3T THaT ?

18)
Question Stimulus :-

If a solid sphere of radius 10 cm is moulded into 8 spherical solid balls of equal radius, then the radius of each such ball

is . / 9¢ TP 10 T & 319 Mae &1 T $IP RaR BT F 8 ey 319 g a= Il ot €,
R ded et

® 1.25cm
® 25cm
® 375cm

® 5cm
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Correct Answer -5cm

19)

Question Stimulus :-

When the distance covered by an object is directly proportional to time, it is said to travel with JASC)
forlt avg g7 a9 @t S & WA & rgpuTguIfa § ) 98 et oAl @ % g & 1Y Bt
ST e B

® zero velocity / I T

® constant speed / RRr ufa

® constant acceleration / @R RUT

® uniform acceleration / THhTHT RUT
Correct Answer :-constant speed /@R’ fd
20)

Question Stimulus :-

In a certain region, as the wind speed increases, air pressure / P& ?33!3[ ﬁ, ﬁﬁ é'} qarg CARIIGH EI?A'Eﬂ %, a'\ﬁ é’f arg
qld

® decreases / YUcdl %

® increases / da<ll %

® remains constant / R Yedl %

® increases up to a certain limit and then decreases / PO HaT TH dedl % Gﬁ?' 53 gedar %
Correct Answer :-decreases / 9cdl %
21)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / <id Q€ 73 9R ugi & forw
e R RE 73 arw &1 sremee #¥ SR Y BT SR &1 S7RI & e SrgEife gl iR AR S
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Production of Grains by a STATE(Tonns)

A liaize

= Other
Grains

Pulses

@ Barley

What was the ratio of production of Barley and Rice? / S 3R Aad & Ile BT ST T Y1?
° 11/4
® 15/56
* 4/13
° 4/11
Correct Answer :-4/11
22)

Question Stimulus :-

Find the least number which when divided by 5, 6, 7 and 8 leaves a remainder 3, but when divided by 9 leaves no

remainder. / 98 =g TEI fA@1ieie R 5, 6, 7 A vl w31 R Ay 3 frawr €, afes w9 9 I o #wa €
I B A T e

® 1677
® 1683
® 2523
® 3363

Correct Answer :-1683

23)

Question Stimulus :-
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cosGcos(90° — 6':|

cot[90% -8

e Sin? ¢

e Cos2¢

e Sin 2¢

¢ Cos?s
Correct Answer :-Cos%’
24)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / 51 ot T IR udi & forw
fézr 9 T 13 Ww &7 sreaT HY 3R Ul BT IW 31 FWI & fore gEAg gedl R R #91

Production of Grains by a STATE({Tonns)

akaize

= Other
Grains

Pulses

= Barley

If total production was 7000 tons, then how much Pulse was produced in tons? / TI'% Pl SclTg 7000 S AT ar
ol ® fopa=il qTe o1 ST §oiT UT?

® 1200
® 1400
® 1100

® 1150
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Correct Answer :-1400

25)
Question Stimulus :-

One end of the wooden spoon is placed in a glass of ice crystals, its other end will also/m W T BT
s R 9 & fpeea wR frara & a1 smar 81 53t gan Rt of

® Become cold due to conduction / dTd- & PRI A ﬁ SITET

e Become cold due to convection / Hdg- & PRI Td Eapf SITET

® Become cold due to radiation /ﬁm'UT & HRUT E?f SITET

® Remain at the same temperature /?Rﬂ GINCIG R CECEI] ?%'ﬂT
Correct Answer :-Remain at the same temperature / ST aTUHTE WR 9411 ?%m
26)

Question Stimulus :-

The plasma membraneis_____ / Siaged &l %_

® Selectively permeable / iUy

® Fully permeable / T’f qRIT

® Partially permeable / 3TRF uI g

® Impermeable / ORI
Correct Answer :-Selectively permeable / 3R
27)

Question Stimulus :-

The length of the elastic band attached to a block of wood & pulled along a smooth tiled floor is least

because / T YR U FoIAP] dhs! & WS & 1Y oI B We P! b a8 W Wi S1dm g SHB!
oaTs | &g &7 O $H gidT § iife

® |ess force is required to move an object over a smooth surface /ﬁlﬁ e UR d¥q P foTe™ & ﬁl‘({
®Y 90 B AagHdT erdl 2

® More force is required to move an object over a smooth surface /ﬁibﬁ el IR d%] + fIge@ &
e iftres oo & smazgear 2rdt B

® Friction does not depend on the nature of the surface in contact /‘EI'EfUT U | 3e aal Bt Wﬁf L'C3

(39)



iR T8 wear 81
® Static friction is more on a smooth surface /ﬁlﬁﬁ Td R RAfds ador siftre Eﬁ?ﬂ %I

Correct Answer :-Less force is required to move an object over a smooth surface /ﬁlﬁ el U d¥q

P! e & U &9 90 B azadar 2l gl

28)
Question Stimulus :-

The value of 3x+5y=200, 3x-5y=100 is / 3x+5y=200, 3x-5y=100 &1 417 §
e 40,10
e 50,10
e 1,1
e 1,0
Correct Answer :-50,10
29)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / <1 Q€ T4 9R ugi & forg
fFdm R T 73 are &1 sremee oY 3R Ul 1 SR 1 SRl & e SrgHife gl iR AR w1

Production of Grains by a STATE(Tonns)

A Naize

= Other
Grains

Pulses

@ Barley

What was the ratio of production of Maize and Wheat? / H&Pb] 3R ﬁ_g\f & ITG BT SIJUTd AT YT?

* 3/19
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® 3/20
® 4/18
® 5/11
Correct Answer :-3/19

30)
Question Stimulus :-

is an example of a bisexual animal / IHIfeRtt U b1 3arexul %I
® Cockroach / ﬁﬁﬂET

® Earthworm /ﬁarr

e Frog / He®
° Lizard/m

Correct Answer :-Earthworm / g3
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